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Expand each problem using the box method.
1) (-1x2+9x)(-6x2+8x+5)

-1x2 9x

-6x2 6x4 -54x3

8x -8x3 72x2

5 -5x2 45x

2) (5x2+3x+5)(-1x2+3x+4)
5x2 3x 5

-1x2 -5x4 -3x3 -5x2

3x 15x3 9x2 15x

4 20x2 12x 20

3) (-1x2+3x+-7)(-7x2+-5x+-6)
-1x2 3x -7

-7x2 7x4 -21x3 49x2

-5x 5x3 -15x2 35x

-6 6x2 -18x 42

4) (-3x2+5x+9)(-4x2+-8x)
-3x2 5x 9

-4x2 12x4 -20x3 -36x2

-8x 24x3 -40x2 -72x

5) (-9x2+-7x+3)(-2x2+5x+4)
-9x2 -7x 3

-2x2 18x4 14x3 -6x2

5x -45x3 -35x2 15x

4 -36x2 -28x 12

6) (-8x2+9x+-1)(9x2+-1x)
-8x2 9x -1

9x2 -72x4 81x3 -9x2

-1x 8x3 -9x2 1x

7) (1x2+2x+1)(-9x2+-3x)
1x2 2x 1

-9x2 -9x4 -18x3 -9x2

-3x -3x3 -6x2 -3x

8) (-4x2+-7x)(6x2+-1x)
-4x2 -7x

6x2 -24x4 -42x3

-1x 4x3 7x2

9) (7x2+-6x+6)(2x2+-6x+4)
7x2 -6x 6

2x2 14x4 -12x3 12x2

-6x -42x3 36x2 -36x

4 28x2 -24x 24

10) (3x2+-9x+9)(-7x2+4x)
3x2 -9x 9

-7x2 -21x4 63x3 -63x2

4x 12x3 -36x2 36x

Answers

1. 6x4-62x367x245x

2. -5x412x324x227x20

3. 7x4-16x340x217x42

4. 12x44x3-76x2-72x

5. 18x4-31x3-77x2-13x12

6. -72x489x3-18x2x

7. -9x4-21x3-15x2-3x

8. -24x4-38x37x2

9. 14x4-54x376x2-60x24

10. -21x475x3-99x236x
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Expand each problem using the box method.
1) (-1x2+9x)(-6x2+8x+5)

-1x2 9x

-6x2 6x4 -54x3

8x -8x3 72x2

5 -5x2 45x

2) (5x2+3x+5)(-1x2+3x+4)
5x2 3x 5

-1x2 -5x4 -3x3 -5x2

3x 15x3 9x2 15x

4 20x2 12x 20

3) (-1x2+3x+-7)(-7x2+-5x+-6)
-1x2 3x -7

-7x2 7x4 -21x3 49x2

-5x 5x3 -15x2 35x

-6 6x2 -18x 42

4) (-3x2+5x+9)(-4x2+-8x)
-3x2 5x 9

-4x2 12x4 -20x3 -36x2

-8x 24x3 -40x2 -72x

5) (-9x2+-7x+3)(-2x2+5x+4)
-9x2 -7x 3

-2x2 18x4 14x3 -6x2

5x -45x3 -35x2 15x

4 -36x2 -28x 12

6) (-8x2+9x+-1)(9x2+-1x)
-8x2 9x -1

9x2 -72x4 81x3 -9x2

-1x 8x3 -9x2 1x

7) (1x2+2x+1)(-9x2+-3x)
1x2 2x 1

-9x2 -9x4 -18x3 -9x2

-3x -3x3 -6x2 -3x

8) (-4x2+-7x)(6x2+-1x)
-4x2 -7x

6x2 -24x4 -42x3

-1x 4x3 7x2

9) (7x2+-6x+6)(2x2+-6x+4)
7x2 -6x 6

2x2 14x4 -12x3 12x2

-6x -42x3 36x2 -36x

4 28x2 -24x 24

10) (3x2+-9x+9)(-7x2+4x)
3x2 -9x 9

-7x2 -21x4 63x3 -63x2

4x 12x3 -36x2 36x

Answers

1. 6x4-62x367x245x

2. -5x412x324x227x20

3. 7x4-16x340x217x42

4. 12x44x3-76x2-72x

5. 18x4-31x3-77x2-13x12

6. -72x489x3-18x2x

7. -9x4-21x3-15x2-3x

8. -24x4-38x37x2

9. 14x4-54x376x2-60x24

10. -21x475x3-99x236x
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